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[Daily Sentences]
WERSKR.
1. What’s the weather like in Beijing? b5t (RS W[ 7
It’s rainy today. How about Lanzhou? 4~ KJEWM K. % We?
It’s sunny and hot. S RIEHR, R,
2. It’s warm today. A RARWEFI
3. It’s cool. A RAR I,
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The Wind and The Sun (X0 BA)

The wind and the sun decided to have a bet. The wind knew that the sun had no
strength and believed that he could win. “I’'m the best in the world.” “Mr. Wind,
why don’t you and I find out who is the stronger one.”

Just then a traveler was walking by. “Why don’t we find out who could first take
off that man’s jacket.” The sun confidently suggested. “Fine.”

The wind confidently, with all his strength, began to blow. Just then the clear
blue sky and the sun was no where to be seen and only the wind began to blow. The
traveler tucked his jacket in closer and said, “Why is it so cold all of a sudden?” The
stronger the wind blew. the traveler pulled his jacket closer and closer to him.

“Whew, I'm so cold where has the sun gone to? If this keeps up, I’m going to
fly off.” The traveler stopped and tucked in his jacket even more.

The sun arrived with a big smile on his face. “Now it is my turn.” The sun
beamed his warm sunlight. The exhausted wind stepped back.

The traveler wiped his sweat and said, “Just a little while ago, the wind was
blowing strongly how is it all of a sudden, the sun is shining down.” The traveler
took off his jacket and threw it down.

The sun gave a big smile and said, “Wind, there are something in his world that
can’t be done by strength alone.” The boastful wind was so embarrassed that he

ran off.
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[Daily Sentences]

MEANEEMMTLAREE.
1. What does he do?

He is driving a car.
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2. What are you doing?
I am watching TV.

3. What are they doing?
They are playing games.

4. When the bus comes to a stop, some children get on. Here we are; let’s get

off at once.

5. When does the bus leave the station? It will leave at 8 : 30/6 : 30.

[Daily StoriesY (& R . %k kK vr)
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Nowadays, any Chinese can enjoy the luxury of owning a private car - if he or
she can afford it. Having a car of your own means no more traveling to work on
crowded buses or subway trains, and you can drop off the children at school on the
way. Moreover, it also means that you can enjoy the weekends and holidays better,
because with a car you can go to places where the regular buses and trains do not go,
and so you can find a quiet scenic spot with no crowds.

However, there are drawbacks to owning a car. For one thing, with the
increase in car ownership in recent years, the roads are becoming more and more
crowded, often making the journey to work more of a nightmare than a dream. For
another, it is not cheap to run a car, as the prices of gasoline and repairs are
constantly rising, not to mention the prices you have to pay for a licence and
insurance coverage.

Having considered both sides of the argument, I have come to the conclusion
that the advantages of owning a car outweigh the disadvantages. Therefore, it secems
to me that China should increase its output of automobiles and enlarge the private car
market. The result would be that cars would become cheaper, while at the same time
the extra demand would encourage the auto industry to produce more efficient and

family-oriented vehicles.
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[Daily Sentences]
Identifying Objects ¥ 3| 41 &
1. What is this?
It is a scientific research car.
2. What is it used for?
It can do an experiment.
It can do a lot of things.
So,the car can run.
The car can take pictures.
3. Is this your handbag?
No, it isn’t./Yes, it is.
4. Whose pen is this?
It’s Kate’s.
What do you call this in English?
What is the color of your new book?
How big is your house?

. How long is the street?

© o N O a

. What’s the name of the cat?
10. Where’s the company?
11. Which is the right size?
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BEO.

Robots are becoming a big part of our lives. There may be half a million robots
in the U.S.20 years from now. These machines are changing the way of work that is
being done. Thousands of robots are used in factories. These robots are not like the
robots in movies. They don’t walk or talk. Instead. a robot may be just metal arm.
The robot arm can do a certain job in a factory over and over again. It can do jobs
that people may not want to do. A robot never gets tired of doing the same thing.
Sometimes a robot gets to do more exciting work. In Canada. police are using a robot

on wheels. This robot’s job is to take apart bombs that may go off.



